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Section 1
Thave 5 pairs o shoes.

Hon many shoes is that altogether?

&

Section 2
Shep had 5 dog biscits

Rover had 8. How many more biscuts did
Rover have?
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Section 3
Count the beads and wrie the number

Section 4 Section 7

Thave got 30p . . What time s 7

Hlase Sp nalfpase s ()

Wrte tis s a number sentence

. . tentos ()
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Section 5 Section 8

Cut the cake into quarters.

How many quarters equal a half?

Section 6

What numbers are missing?

Complete the rumber pairs

()=

w3530 20





image2.png
Section 1
Thave 5 pairs o shoes.

Hon many shoes is that altogether?

10

Section 2
Shep had 5 dog biscits

Rover had 8. How many more biscuts did
Rover have?

Section 3
Count the beads and wrie the number

Section 4
Thave got 30p.

@ g
Write this as a number sentence: . .

30-5=25

Section 7
What time s 7
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Section 5
Cut thecake it qarters.
For cxample

How many quarters equal a half?

Section 6
What numbers are mising?

Section 8
Camplet therumber paies
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Section 1
Fil i the missing boses.
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Section 2
Tihink of @ number

Idoule i,
Isubtract 4
My answer s &

Wan was the number [ was
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Section 3 Section 5 Section 6
What number wold the arow be Draw a lne of symmetry on each shape. | | Puta cire around all.
pointing t0? the words that
mean +
minis
0 4 subtrace
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Section 4 plus
Kalimissaving up 10 buy a toy e
Velociraptor. He needs £24. He has £12 dde equal
How mch mare doeshe need to save?
Section 7 Section 8
A gardener plants 5 rows of Narme 3 things you might see
affodl bubs,and plants 6 in | | which are the shape of a cuboid.
cach row. How many daffods
wil they have?
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Section 3 Section 5
What number wold the arow be Draw a line of symmetry on each shape.
pointing t0?
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Section 4
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Kalim is saving up to buy a toy
Velociraptor. He needs £24. He has £12
How much more does he need to save?
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Section 6

Put a e around all.
the words that
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Section 7 Section 8

A gardener plants 5 rows of Name 3 things you might see
affodl bubs,and plants 6 in | | which are the shape of a cuboid.

each row. How many daffodis
will they have?
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